
Nombres Relatifs (D)Remplissez l’espace vide.____ × 9 = 108 7 × ____ = 21 12 × 5 = ____9 × 12 = ____ 3 × 7 = ____ 5 × ____ = 60108 ÷ ____ = 9 ____ ÷ 7 = 3 60 ÷ 12 = ____108 ÷ 9 = ____ 21 ÷ ____ = 7 60 ÷ 5 = ____
4 × 3 = ____ 8 × 9 = ____ 7 × 8 = ________ × 4 = 12 9 × 8 = ____ 8 × ____ = 5612 ÷ 4 = ____ 72 ÷ 8 = ____ ____ ÷ 7 = 812 ÷ ____ = 4 ____ ÷ 9 = 8 ____ ÷ 8 = 7
9 × 5 = ____ 5 × 2 = ____ 7 × 11 = ________ × 9 = 45 ____ × 5 = 10 11 × ____ = 7745 ÷ 9 = ____ 10 ÷ ____ = 2 ____ ÷ 7 = 11____ ÷ 5 = 9 ____ ÷ 2 = 5 77 ÷ ____ = 7

____ × 3 = 12 ____ × 9 = 108 9 × ____ = 363 × ____ = 12 ____ × 12 = 108 4 × 9 = ________ ÷ 4 = 3 ____ ÷ 12 = 9 36 ÷ 9 = ____12 ÷ ____ = 4 108 ÷ ____ = 12 36 ÷ ____ = 9
____ × 4 = 40 7 × 3 = ____ 4 × 3 = ________ × 10 = 40 3 × 7 = ____ 3 × ____ = 1240 ÷ ____ = 4 21 ÷ ____ = 3 12 ÷ ____ = 340 ÷ ____ = 10 21 ÷ ____ = 7 12 ÷ ____ = 4
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Nombres Relatifs (D) RéponsesRemplissez l’espace vide.12 × 9 = 108 7 × 3 = 21 12 × 5 = 609 × 12 = 108 3 × 7 = 21 5 × 12 = 60108 ÷ 12 = 9 21 ÷ 7 = 3 60 ÷ 12 = 5108 ÷ 9 = 12 21 ÷ 3 = 7 60 ÷ 5 = 12
4 × 3 = 12 8 × 9 = 72 7 × 8 = 563 × 4 = 12 9 × 8 = 72 8 × 7 = 5612 ÷ 4 = 3 72 ÷ 8 = 9 56 ÷ 7 = 812 ÷ 3 = 4 72 ÷ 9 = 8 56 ÷ 8 = 7
9 × 5 = 45 5 × 2 = 10 7 × 11 = 775 × 9 = 45 2 × 5 = 10 11 × 7 = 7745 ÷ 9 = 5 10 ÷ 5 = 2 77 ÷ 7 = 1145 ÷ 5 = 9 10 ÷ 2 = 5 77 ÷ 11 = 7
4 × 3 = 12 12 × 9 = 108 9 × 4 = 363 × 4 = 12 9 × 12 = 108 4 × 9 = 3612 ÷ 4 = 3 108 ÷ 12 = 9 36 ÷ 9 = 412 ÷ 3 = 4 108 ÷ 9 = 12 36 ÷ 4 = 9

10 × 4 = 40 7 × 3 = 21 4 × 3 = 124 × 10 = 40 3 × 7 = 21 3 × 4 = 1240 ÷ 10 = 4 21 ÷ 7 = 3 12 ÷ 4 = 340 ÷ 4 = 10 21 ÷ 3 = 7 12 ÷ 3 = 4
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